Integralok

[kde=ke+C Jatde =25 +Ca# -1

[e“de =e"+C [ ide =In|z|+C

fsinxdx:—cosx—i—C Jcosxdr =sinz +C
—tg“C fntz = —ctgT+C

lfig =arctgx + C

[shazdx =chz+C

= arcsinz + C

fchxd:czshx—i—C

& —thz+C f\/;fiﬂ:arshx%—(]
—~5— =archz +C fag’dx:a——i—(}’
Ina

f1 12:11n‘1+x}+0

Integralasi szabalyok
a+1

[rf =100 [ flax+b) = Heet 4 o

JE=|fl+C [ [flgx))g(z) = F(g(x))+C

Juv' =wv— [w'v parcidlis integralas

Derivaltak
f(x) f'(x)
C'(allando) 0
T 1
¢ ax® !
1 _ 1
z 2
Ve :
I —_—
2\/x
e* er
a® a*lna
1
Inz -
T
1
log ,x
zlna
sinx CcosS
CoS T —sinx
tg x 00512:(;
Ctg x o sinl2z
shx = % chx
chz = # shz
_ shx 1
__ chx 1
cthx = gh—x — 37
arcsin 11_:02
arccos x — 11_12
arctg x ﬁ
1
arcctgx — iz
1
arsh ==
arch x o
arth x 1_1332
arcth x 1fx2
Derivalasi szabalyok
f(x) f'(x)
af + bg af’ + by
f-g flg+fq
f f'9—fd’'
g g2
f(g(x)) f'(g9(x))g'(z)
r / 1
(f(z)) (7@)

u v
P el U v )
p ok Sl | of P polinom,
. . L=ax+b
P sin L sinL | a® oo + i
P cos I, cos L | ek linearis fiiggvény
log, 1 cos L | a*
ar és arc 1
R C _ 2t . _ 12, _ 2dt
t=1tg35 hely: sinw = =5; cosw = 557 dr =55
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